)
12

[a] a1
2724716 —
— —

— — —
T X =
~ — —
— — —
— 38 )
™) — —
T~ N
1O — —
— — —
— N N
N ~— —
~ HloN|©
01O — —
— — —
— — —
N N =






ojn

@ 0.104 ® 0.21

D 21.008

® 3.46

@ 5.210



4.

0] WAL SHAL.

24-15

&=
=%




il

ol
(1¢

4
7

6 5
72
+ 7

3=
7

@ 10 ® 11 @ 12 ® 13

@9



©6§L
6

4
@ 6= L
6



QI

™

ol

olJ
K
olJ

—

om

al

At = vt=A

mj
<
d

(2) 4.591

(1) 0.217

Q]
=

12 (2) A 2+

ol (2) A L2

~ul



S % 0.01 o A 2247} 7 2L AL o]

D 13.024

@ 8.392

@ 49.118

® 10.487



9.

o 255 RS E A L.

(1) 20.063  (2) 7.602
063 602 63 602
1) 20— (2) T—— 1) 20—  (2) T——
oM O1603000 ( )71600020 @M O10030 @ 1000
2 (2) T 1) 206——  (2) T——
@ @) 201g80 ( )71600020 @ (1) 2063555 @) 1500
© M 2035 @ o0



0.006-[ ]-0008-] ]

@ 0.07,0.09

@ 0.0065,0.0085

@ 0.007,0.009

® 0.007,0.0085

@ 0.0065,0.008



11.

4500 WAL vhEA ARG AL DEAL

(1) 0.78 = 0.17

(2) 0.48 - 0.23

@ (1) 0.59 (2) 0.225

® (1) 0.61 (2) 0.25

@ (1) 0.6 (2) 0.25
® (1) 0.62 (2) 0.35

@ (1) 0.61 (2) 0.35



el

Y}, gulol @ujwrt duht o

~
~a
®[F
©
N~
COCS
w |88 &
Q ©
NN
CECS
=82S
@ ©



O’IL_ i __EE ko @1 0;0(0—1 EE52 k
=XxXL= 11 gox 1, J ] >
v = .

EE Y =7 2
3 kg o B e oE T e

a
a

i
=

13.

B

I.

£

kg

n



213 4 5 6

1
=S

k|

o] 57 = 4

T
il

ald

TOFA L,

Lo
U=



ol
_.__]a

=0l

Utk gt oj o]t of2} oflo]

2.

S

3 W W

ol

ofglols

QAnfelz) 7

Al

7

B
ol
=

12
22

12 12 2 2
% @) 8ﬂ ® 15ﬁ @ 15ﬂ ®

@ 8



to]l[ Joael[ Joorel[  ]dych

8.43%=




@ (1)1.2 (2)2.13 @ (1)0.12 (2)2.013
@ (1) 0.012 (2) 2.013 @ (1) 0.120 (2) 213

® (1)0.12 (2)2.130



of LFERd uf 71 9220 9]

® 0.211

® 0.2311



19. 4o A A7t 3, 4 A 2] 224471 5, A5 AR 242 27t
2 Ql 2 M| A2 9] 4= Foll A 3.567 Bt} A4 4 Kt 28 AL
% 9 7iQIZ] HokA Q.

YEE 7



20. T3S m T2 HERHA L.
56 km78 m3 cm

Be :



~

~

_~0.13-_

-
e

~

~

_0.14- _

I
0

-

-
e

\|A|||I

LI R B B B B N B N B BN B N N N B B B N N B B B B N N |

i V)

0.3

0.2

0.1

@ 0.11+0.12=10.23

® 0.14+0.12=0.22

@ 0.14 +0.12=0.26

® 0.13+0.12=0.25

® 0.1440.13=0.27



22.

7ol

rr
T
T



(3.279m, 7.836 m)




24. S 2t A2 SAYE I A2 FAdU

H7]
7 1 3
@5—25 @7—6§ @10—7§
© 9,06, @ 9,6, ® 0,0 06
@ 0,060 ® ©,0,0




9

11

‘I_

A=

16
618

8
18

® 4

10
g ’ 617
8 °18

@ 4
® 3

1
18

, 7
5

10
18
10
18

O 4
@ 3



26. theolA @0l el 4 ©o] Yehile 40 @ w7t

041

3

® 100

4
@




(e w0
<[] o

Sl



28. o= Zol g5l HolA st 1.46km |, 9
= 1570 m, HLA L7 E 2.1k Ut FolA] 23717 2]

712l 2 km A FEFA L.

11,46kn¢,1570m\\~,, 2.1km -
A gm oWy 3
km



29.

ZF27F0.24m, A27F 0.28 m Q1 ZALZHE o] 712 9] Ao]E 0.06m
Zo|il, M22o] dol& dut 535y M2e] Zol7t 71=29] Zdo]9] 2
Hi7h Byt 52 Al29] dol= 2 m QA kA L.

Be "



30.

Axt A7 Vg 2

THE AR 2 S AEAL.

@ 0.38+0.84 © 1.84-0.17

© 047405 ® 1.9-0.62
® 0.0,6.@ @ ©..06 ® ©.0e.0
@ ©.0.0.6 ® ©0.0.6




_H_ln,o
o[

= os|



32.

dede 3 A2 747} 2 Q1 e ol 4
olm, B Aelo] 5748 A& 4 U AL

a

)
=

it

M

215 Kot Zhe 42 4] 2]

BE 9 A QU7



33.

X

7F o, 2k mre] AR S yErd
2l dnpelz] LEIA Q. (HE 7tol|A]

7}
3.73 | Y
Y =)
3.409| 2
13.524 7,504 at

km

(%9 @ km)



